ToughArmor ICY DOCK
2.5" SAS/SATA SSD/HDD & (Ultra) Slim ODD Backplane Cage

MB
2 x2.5" + (Ultra) Slim ODD

MB604SPO-B
4 x2.5" + (Ultra) Slim ODD

MB606SPO-B
6 x 2.5" + Ultra Slim ODD

Copyright ® ICY DOCK International. All Rights Reserved. 6502703 VER 4.0

Cremax Europe GmbH UK Beyond Technologies UK Ltd
C E Email: support@icydock.com Email: info@beyondtech.co.uk
Weidenweg 21H, 47059 Duisburg, Germany Cn Unit B6, Halesfield 11, Telford, Shropshire, TF7 4PH, UK.

Package Contents ® Packungsinhalt ® Contenu ® Contenido
del paquete ® GZEITDNT o HEZRAR o BI2EIAR

MB602SPO-B MB604SPO-B MB606SPO-B User Manual

B x4 B *x10 ><14

4 x M2*2.5 Screws for ODD 10 x M3*2.5 Screws for Device 14 x M3*4 Screws for 2.5" HDD /tt
(2 x Screws for Spare Parts) (2 x Screws for Spare Parts)  SSD (2 x Screws for Spare Parts)

E x10

Optional
EVA Foam Spacer / 10 x M3*4 Screws for 2.5" HDD / .
Spacer Installation Guide SSD (2 x Screws for Spare Parts) Drive ID Plugs

Note: Please use the included screws to secure the drive(s).

Device Information ® Gerateinformationen e Informations dispositif
® Informacion del dispositivo ® A{AZ5BA ® #%BERER © #1414 AR

V¥ Front View

(MB602SPO-B) (MB604SPO-B)
© ] @uo s
Bl [l
Bl Ee
| I I I
4 1 2 3 1 2 3 4
(MB606SPO-B)
© [o]]] a=e |
—pE—— e
sRE =
1
1 2 D @ 2 3 4

1 Drive Tray Ejection Button

2 LED Indicator (Device power: solid green light; Drive access: flashing green light)
3 Slot for Drive ID Plug

4 (Ultra) Slim ODD Bay Dust Cover Plate / (Ultra) Slim ODD Slot

V¥ Rear View

(MBeo2sPO-B) 1 e (MB604SPO-B) a

—t
Ce— o T i—(}1
}H:é%ﬁ / ( Tj =
|
=

@+ @o;

4

k3
OJH L oFF
T
2 3 4

1 15 Pin Power Port 2 Fan Speed Switch Control
3 3 Pin Fan Header Port 4 7 Pin SATA Port

2.5" HDD/SSD Installation @ Installation einer 2.5" HDD/SSD
o Installation du disque dur/SSD 2.5"
@ Instalacion de unidad de disco duro o unidad de estado sélido de 2.5"

® 25" HDD/SSDER{FFIE o 2.50 i iE REELER 0 2. 55T WA RELE

MB602SPO-B
3-1.1 - 312

Push the drive tray ejection button to The drive tray latch will pop open once
eject the drive tray. the drive tray ejection button is pushed.

Flip the drive tray and drive upside down
and insert the 2.5" drive into the tray, be
sure that the drive’s connector is located
at the rear of the tray.

315 ' ’m 316
D N

Use the included M3*4 screws to secure

the drive onto the tray, then flip the tray Insert the drive tray all the way into
back to the top side. the device.
Note:

@ The 2.5" HDD/SSD installation of MB604SPO-B and MB606SPO-B is
similar to MB602SPO-B, except step 3-1.4 and 3-1.5 which will be
illustrated in the following section.

Use the included M3*4 screws to secure

Please do not discard the removed screws, the drive onto the tray, then flip the tray

as it is for SSD/HDD mounting purposes. back to the top side.

'q‘. > Use the included M3*4 screws to secure
Please do not discard the removed screws, the drive onto the tray, then flip the tray
as it is for SSD/HDD mounting purposes. back to the top side.

MB604SPO-B & MB606SPO-B Only

OPTIONAL: Installing Drive ID Plugs

To install Drive ID Plugs, gently twist off the
plug from the Drive ID Plugs mold and insert it
into the drive ID plug slot in front of the tray.

Ultra Slim / Slim ODD Installation @ Optisches Ultra Slim / Slim

Laufwerk installieren e Installation de lecteur de disque optique ultrafin

o Installation de lecteur Ultra Slim ODD / Slim ODD e X!) Ls%2 4~ ODD F
NA Z DB FIE o EEHR SHERNRMRELER 0 9.5mm/12.7mm
FRAXBRESE

MB602SPO-B

\\s‘.
NS

To remove the ODD dust cover, push Unscrew the screw on the front panel to
the tab to the right to unlatch. remove the ODD bracket.

—e
O————Uttra Sim ODD ———0

4-13 4-14 —— smow

Remove the ODD bracket from the Use two M2*2.5 screws to secure slim
device. ODD onto the ODD bracket.

,
: @ Optional: Ultra Slim ODD spacer installation for MB602SPO-B & MB604SPO-B
Use the provided ODD spacer installation guide

1
to correctly install the EVA foam spacer on top
of the Ultra Slim ODD. _—

1. Place the ODD spacer installation guide on top

G = 2
of Ultra Slim ODD (as shown in the picture). ,_-,;«,—r::\‘“ﬁ ~
N

2. Follow the ODD spacer installation guide and then
attach the EVA foam on the Ultra Slim ODD.

S m e ————————

Insert the ODD bracket back into To secure ODD device, tighten the screw
the device. on the front panel.

Note:

The Ultra Slim / Slim ODD installation of MB602SPO-B & MB604SPO-B
@ is similar to MB606SPO-B except step 4-1.4 and 4-1.5 which will be

illustrated in the following section.

- MB606SPO-B

Use two M2*2.5 screws to secure slim
ODD onto the ODD bracket.

Note:
In order to provide sufficient power to device, we suggest to use power
cables that are not shared with other devices.

ICY DOCK reserves the right to change product specifications, components, or
accessories without prior notice. For the warranty information, please visit
www.icydock.com/warranty.php




